Math 1242 Calculus I1 Test 2

April 4, 2006 Name

On all the following questions, show your work. There are 150 points available
on this test. Do not try to do all the problems. Try to find four or five that you
you can do well. Except in problems 1, 4b, and 4c, there is no penalty for using
the numerical integrator (fnlnt on the TI’s). However, you must display the integral
explicitly to get credit.

1. (10 points) Find the area of the region bounded by f(z) = 2 + 6, g(x) = =,
r=—2,and x = 5.

2. (10 points) Sketch the region enclosed by the curves y = 4z% y = 2 + 3. You
want to find the area of the region. Decide whether to integrate with respect
to x or y. Do not integrate. Just set up the integral.

3. (10 points) Sketch the region enclosed by z +y* = 2 and x +y = 0. You want
to find the area of the region. Decide whether to integrate with respect to x
or y. Do not integrate. Just set up the integral.

4. (70 points) Let R be the region bounded by the graph of y = 1 + sinz, the
y-axis, and the line y = z /7.

(a) Sketch R.
(b) What is the area of R? (2 points for correct numerical value only)

(c¢) Find the volume generated by revolving R about the z-axis. (2 points

for correct numerical value only) You might need to know the following
1 —cos2zx

2

(d) Find the volume generated by revolving R about the y-axis using the
shelling method.

identity: sin®x =

(e) Find the volume generated by revolving R about the line y = —1.

(f) Set up an integral whose value is the volume of the solid generated by
revolving R about the line x = 4. Do not integrate.

(g) Set up an integral whose value is the volume of the solid generated by
revolving R about the line y = 2. Do not integrate.

5. (10 points) Find the length of the curve defined by
y =223 + 2z

from the point (-2,-20) to the point (3,60).
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6. (10 points) Find the mean value of the function f(z) = |5 — z| on the closed
interval [4, 8.

7. (10 points) A force of 1 pound is required to hold a spring stretched 0.1 feet
beyond its natural length of six feet. How much work (in foot-pounds) is done
in stretching the spring from six feet to seven feet?

8. (10 points) The base of a certain solid is the region bounded above by the graph
of y = f(x) = 25 and below by the graph of y = g(x) = 9z%. Cross-sections
perpendicular to the y-axis are squares. Use the formula

vzfabA@)dy

to find the volume of the solid.

9. (10 points) The masses m; are located as given. Find the center of mass of
the system. Mass my = 4 is located at (7, —4), my = 2 at (9, —5) and mz =6
at (3, —4).



